
Autograph Foliages

1/4

2. As shown in the figure, make sure you match number to number

1. take out the foot frame and accessories from the carton. 
Include below parts: main trunk-1 pcs, foot slice- 2 pcs, M6*16MM six corner screws- 
2 pcs, M8*50MM six screw nut- 4 sets, M6 six corner wrench- 1 pcs, M8 six corner 
wrench- 1 pcs)

15ˊPole Tree With Cable Wire Instruction



Autograph Foliages

2/4

4.  Please make sure tightened all the screws on the stand

3. as shown, please insert the six angle screw nut M8*50MM to the 
connection and tightened. On the upper part of the stand please insert 
six angle screws M6*16MM and tightened.



Autograph Foliages

3/4

6. after the whole tree is assembled, 4 wire ropes are attached to the branch, please 
untie the wire and hook to the metal stand

5.the cable wire is attached at the section B which is below the tree top



Autograph Foliages

4/4

7.make sure all 4 wires are attached to the metal stand


	15 Foot Tree with Cable Wire

